How many types of genotypes are formed in F2 generation of monohybrid cross?

waerdeRt @ehor bt F2 et 7 forem wem o sfierey frfifa any 39

/‘( (B) 2

& 9 D) 4
(E)  Question not attempted / AR w31

Which coal contains the highest amount of carbon?

(A) Bituminous (B)  Anthracite

(C) Lignite - (D) Peat
(E) Question not attempted

fora g ® Irfireran wrEn § sl g ST 2

(A) e _BY e

(€) fommse (D) de

(E) ATaRawx

Select the plants found in the subtropical mountain forest in Rajasthan :
(A) Mango, Neem (B) Dhokra, Palash
(C) Khejn, Ber (D) Ker, Thor, Foag

(E) Question not attempted
Wﬁmmmﬁmﬂﬂwémﬁmaﬁm@rq&ﬁaﬂwﬁﬁﬁ

(A) W, dH= _BY tﬁa:gn QT
(C) WE, N (D) T, OR, EI
(E) STIaia ¥

Bamboo forest is found in which of the fnllnwi‘ﬁg districts of Rajasthan?

Choose the most appropriate option from below:

isalmer
(A) Churu (B) Jaisalm

(C) Banswara (D) Bikaner

(E) Question nﬁt attempted

gte =T ST (Bamboo furest)tmﬁ%ﬁmﬁ«fﬁaﬁﬁﬁmﬁﬁﬁwm%?

ﬁmw%mmﬁﬁmaﬁl

(A) o . (B) SEaw
€y arganst (D) ¥
(E) HAIdia ¥=

o . * J ]
Chuliya waterfall is located in which of the following regions of Rajasthan
Choose the most appropriate option from below:

. ‘l‘ n
(A) South eastern plateau region (B) Western desert plain regio

(C) Eastern plain region (D) Aravali region
(E) Question not attempted

Sferan sterwara Tewar o Frafafaa § § fomg g i sraftuq 2
fore= i & wad g faaea )

(A) o qeff Tt & (B)  ufirt weeureha dart &7
ey it et (D)  3raeh &
(E) 3rgaita 94

QIS]? 5

IRﬁﬂ-

e ]
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What percentage of the total land mass area of India is in Rajasthan?

Chnoﬁf the most appropniate option from below:
NTEAFT —amﬂmﬁﬁmuﬁﬁﬁmwn%
frr 8w 39T (A .
/m 10.4% &} (B) 12.4% TN
(C) 7.3% O (D) 13.3% W0
(E) Question not attei?pted / 31331:{?[ B ﬁ
‘Rosewood, Mahogony'and Ebony species of trees are found in which type of the followingTorest areas?
Choose the most agpﬁﬁﬁale option from below: ™M
(A) Montane Lik (B) Littoral and Swamp Fa
(C) Tropical Evergreen ‘ {D] Tropical Thom
(E) Question not attempted
iNTe. ﬂﬁﬁﬁfﬁﬁ@ﬁaﬁ%ﬁgﬁnﬁﬁmnameamm%‘ g
o REE ST Fclm &l Ve
‘HL;g-*qéan: Yo (B) @ N IS O
(C) ITTHIAUT HIEER (D)  SUTHRHHIT FEIR g
(E) aia = E:; ot
v L
Data are transferred between different components of a computer system using physical wires called :
(A) Bus (B) WAN
(C) CPU . ™ (D) Flowchart 8
(E) Question not atp- pted Ve

mﬁmaﬁam% Feat ¥ wor i arl &1 ST S ST (T ST QFTE ST AT 8

m i 2 (D) IR =
(E) aia s :__1 — '

9 In Microsoft word, which of the following provides information about the current document?

(A) Status bar {B} View buttons -
(C) Standard 'I‘«:J«::llt;::!:lfi (D) Tabstop S
(E) Question not attémpted | -
“Imaéﬁﬁn:{%%a ﬁﬁﬂ#a@mﬁa%aﬁﬁaﬂwﬂaﬁm% =
(A) REaX m ABT ?a 4 .,
{EF Egé gaﬂﬁ iﬂ {D) &9 2
E) FqEEawH
10 Which of the following is NOT a function of MS Excel? ‘ 3
1 .(B) Subtract ()
(A) MAX( =,
© Coumt0 g (D) MINQ =
(E) Question not attgmpted ﬁ
Frerffia i @ 9 TERd & AT T D
A) wumE() & (B) HWH () =
‘ ) Py THIHTEE ()
(C) =() - .
(E) qai@w=
3

| P T.O.

Q13| F
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methods in laboratory, This is called :
(A)  Vital Force Theory (B)  Theory of Hydrocarbons

(C)  Freons Theory (D)  Wohler Theory

(E)  Question not attempted

el s Afiver ) Fever v ofvat D Y st o s cvewen B sfhe gy sevraren 3 e fafvat g weafoa T

e s e R) a wwarn R
Aﬁh-wm (B)  wEBvEn fugt
(C) fruta famia (D) aren fugta

(E)  arqafia uu

12 Match List-1 with List-II )

List-1 (Forest Area) List-II (Place)
a. Sariska l. Alwar
b. Darrah I1. Kota
&, Mount Abu III. Karauli
d. Kailadevi / IV. Sirohi
T -1 g -0 @ e A
gt -1 (77 ) gt -11 (FaT)
a. afesr - -A. HAdT Q,
b. =E® - | R \( % 9}
c. TWRZIAN - 1L e /
d. e —1v. faod
Choose the most appropriate answer from the option given below:
H= feu e fererext % @ watfie I9g IT gAY ;
a-1,b-1l,c-1V,d-1I  (B) a-IL,b-Ic-1V,d-1II
(C) a-il,b-Ill,c-1d-1V (D) "a=1V,b=1IL, 6= 1, d1

(E)  Question not attempted / STaRd 94

0
13 A metalis in the form cubic crystal lattice. Lattice constant of unit cell is 2.88 A and density of metal is 7.20

gm/cm>. What is the number of unit cells for 100 gm metal?
-

T a1 & foreer ot simers: 2w 3 81 e e a1 siTeres Fraai 2,88 A € T °Tq 1 9 7.20 gm/cm’
&1 100 I UTq & UFF Rfeari hr e a4 87

(A) 2x10% (B) 3x 102

(C) 6x10%3 ((.Bj‘ 5 x 1028

(E)  Question not attempted / STaf ug

14 Frfafes ammt # s am 8. |
(A) 39 7Ef &3y i
- S (B) ==y uf & a1 o &3t 9

p-s M _AD)T @ g mm
Q13 ] ? 4 [ P.T.O-
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most apprnprinte English translation of the given sentence

15 Choose the B W

(A) Heis insulted by wlhnqm? (B)  Has he been insulted?
/(g)" Who has insulted him: (D) “Whit!fias e B nsuisid -
(E) Question not nttemiptud ‘ |
16 Choos¢ the most appropriate n:*pnrl::d form of the given sentence:

«Do you realize that the shoes you are __Evc_nring aren't a pair?", I asked.
[ asked him if he realize that his shoes were not a pair.
B) [lasked him if he realized that the shoes he was wearing weren't a pair.
() lasked that was he aware that his shoes aren’t a pair?
(D) I told him that his shoes aren’t a parr.,

(E) Question not attempted
Choose the most appropriate option to fill in the blank:

17
“]s dad in?"
“No, he isn't. He home an hour ago. He yet.”
(A) Leaves, didn’t return (B) Will have, has not returned
(C) Leave, not returned (D) Left, has not returned

(E) Question not attempted
18  Which of the following mountain peaks is situated in India?

(A) Mt Annapuma (B) Mt. Kamet

(C) Mt Everest | (D) Mt. Dhaulagiri

(E) Question not attempted -

frafafaa & & 9 91 yda et wra F fea 22

(A) HRER AP (B) WREHW
(O TR (D) WIS Henfifi

(E) 3dia o

19  Tors, block mountains, rift Valleys, bare rocky structures are physiographic features of which of the following

regions of India? Vi
(A) The Peninsular Plateau of India (B) Northern plains of India
(C) The Indian desert (D) The Island groups in India

(E) Question not attempted
IR, St O, S ST, e TEr ST Wi & et 3 @ &1 St AT farargand &2
AT ¥ T T 98T (B) T & et A
(C) WA AEEds (D) MR ST a9E
(E) 3Fuiays
20  Who among the following is not appointe
Choose the most appropriate option from below:
(A) Vice Chancellor of State Universities
(B) Chief Justice of High Court.

(C) State Election Commissioner o
(D) Chairman of the State Public Service Commission

(E) Question not attempted
ﬁnﬁmﬁﬁﬁanmﬁ%mmﬁgﬁqﬁ%mm%?
frfafaa & @ wed fareq I
(A) Ty faafaaraa
429  Usa fFataa sngw
(D) TSd Sk qaT HATANT o STAH
(E) 3Iafita 94

Q3| F 5

d by the Guv?'mer of Rajasliiar’

[ P.T.O.

__*_
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21 Under Article 323 of the Constitution of India, the State Public Service Commission has a duty to present ap

annual report as to the work done by the commuission, to whom?
(A)  Vidhan Sabhg (B)  President

(C) Chief‘hﬂinister (D) Gm,emmr-{
(E)  Questgn not attempted Emg
SRR %ﬂaﬁam%m‘mmﬂmmmm%ﬁﬁmwmmmﬁﬂﬁ%aﬁ
q f&a MEEFER R —
S0 faamn @) et O
(C) =g D) wemE )
(E) ﬂﬂﬁm‘ﬂﬂ .
22 The body working at the hj ghest level of Rajasthan administration system is :
Choose Ihﬂ"mpst Appropriate option from below: o
(A)  Govemor's office (B)  Chief Mififster's office
(C)  Minfsrs (D)  Governmett Secretariat
() Questidn not attempted -
TS St (o) 3 s=aaw w0 o s e e: 5’
Ffetas & TR 39T forere 3 - ™)
(A) TS FEiag (B) Teaw:t Freg
(C) =4 APT Tt afaarey
(E) Saf@wxw
ol -
23 Who was therChief Secretary of Rajasthan as on 5 September 20247\
(A)  SubhaSh Chand (B)  Sudhansfi®Pant
) I
(C) SatishKumar (D) Jagdish Mli%:na
(E) Que:«gn not attempted O
W%ﬁaﬁa(osﬁwzozﬂﬁ)aﬁ?ﬂ? ™
(A) TG== _ABY” gumrgq v
(C) TEMFAR (D) - SIS o
(E) SFafawH
iy v

24  Aman take$yS days more than Bhanu to do a certain job and 9 days'more than Pankaj. Aman and Bhanu
together cafd'do the Jjob in the same time as Pankaj. How many days@nan alone would take to do it?
ST 1S T T 5 W 5 P ot v o o i w2 SR T FreTart 3 e = vy v
% F9H GHAHc %tﬁ_mﬁwmﬁaﬁmﬁmﬁﬁqmmggv
(A) 20y (B) 25 (")
s 5" £ B7 15 4
(E)  Question not attempted / N'jﬁf{?[ qa

25  Ajay investedl a total sum of 7 7,100 in three different schemes ul‘ﬁﬂnple interest at 3%, 5% and 7% per

annum. Affie end of one year, he gol same interest in all three schemes. What is the amount of money
invested at 52%?

X ' \O
S T 3%, 3% #R?%Hﬁaﬁﬁmﬁmmmﬁmw-mmamsﬁﬁgﬁz 7,100 @1 o faa
UF 99 F ATA 38 A AT § anr ey firem) 504 T fFrerar oy d vt e 29

/:im ' @ ﬁzl,sml ™)

(D) T2,500 i
(E)  Question not attempted / 31afra gsy
Q13 ] ? 6 [ P.T.O.
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4
02816 +25% of 512 — 7 of 75 is :-

6 The value of | 1
028416 +512F1 25% - 75 T < T A -
A) 4180 (B) 5,900
(C) 4,700 (D) 4910
(E) Question not attempted / Sﬂ\‘rﬂﬂ A
7 Person with _ blood group can accept blood from all, while person from blood group can
donate blood 10 all.
(A) AB+ e especively (B) AB+ ; O+ respectively
(& O% 5 AB+  respectively (D) O0- AB + respectively
(E) Question not attempted | |
 ofor ot aren saft it & T TRU AT R, Safh _ sfi @t aren st ot F T 2
g1 A
| (A) FAAB+ O - _~0) M AB+ ; O+
| (€) WU 0% ; AD+ (D) waW: O- ; AB+

(E) aa 94

A dealer offers three successive discounts of 50%, 10%, 20% on an article. What is the single effective

28
discount rate? . .
e St Fpet T T SR 50%, 10% 37 20% i o 2 T &1 e et g o Rt &2
(A) 69% BY 72%
(C) 60% (D) 64%
(E) Question not attempted / Hﬂﬂﬁ'cf q4q
3

39  What is the equation of the hyperbola, the length of whose latus rectum is 8 and eccentricity is 75?7

o ST o T T & e e A 8 YT Seehedl 73; 87
.

% . 2 £
X y e .
2 2 IE },2
- S z =1
(€) 25_20"1 AP 30725

(E) Question not attempted / 3T S

30  Afier the death of Rana Ratan Singh who became the ruler of Mewar? :
(B) Rana Amar Singh

(A) Rana Vikramaditya ing
(C) Maharana Pratap (D) Maharana Raj Singh

(E uestion not attempted
. T YITHE I 12

o i e Y 9o 6 TS ‘
AKT mfﬁgﬁ.ﬁ q -
(C) e S (D) wErn T fiE
(E) 3afa 94 r
D W ﬁ?m oy 3 S (B) Ravan Hatha
Eg)) gﬁ;ﬁ;ﬂi | (D) Kavad
(E) Question not attempted -
(“A")"E"Tﬁfjfﬁﬁ 7 gy fora el H & g b
_ I
(C) TS | _»
I 94
? ﬂ .4 [ P.T.O.
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3 Inthe fing stage of formation of present state of Rajasthan Cahinet of matsya union was formed under the

Radenship of 1"‘1 —
(A} Shn P‘T;E” Singh (B)  Shn Mange Ram 3
(C)  Shn Shadha Ram (D)  Shn Alwar Saingh KL'."

() Questicerhot attenmprad
TR TR n#m&wwm&mmmqﬁmﬁﬁr‘qﬁﬁnﬁmmw

(A) n’réh-“gg (B) X =T Ow ™M
487 W EhTTR (D) SR i
(E)  SFeRaww

I3 Kavita is motidhin-law of Soema who is sister-in-law of Ashok. Ajay is fathepaf Vinod and oaly broth rof

Ashol. “-“-ecnufg wife of Aly How is Kavita related to Ashok? &)
(A) Mothen-law B)  Wife 3
(©)  Nothery=— (D) Sister r'"l

(E)  Questicebot artempiad
FiyaL § S S e 9wl s H’&:ﬁmﬁﬂrmﬁ?“‘:ﬁ%hﬁﬁﬁmwﬁwﬁ

e T e v TRNE R -
(A) T (B) w=I1
-l (D) =& s
(E) :ﬁﬁﬁﬁm - T
34 If North-East hocomes West, South-East becomes North and so on. What wilkBast become. -
(A)  North (B) South ﬂ
(C) North-T0« (D) South-East D

(E)  Questidiihot atempred
*ﬁm&awﬂﬁﬁmtﬁwqﬁmmm?ﬁ:ﬁmmmma@mﬂm

(A) TN (B) zﬁq
Ao IR-YE (D) Ir-w@
(E) SHOREwS ' S

35 AcuhcnsmwmnnallfamlnsculmmG-lmallcrcub-:snfcqmléﬂ How many cubes are there
which have quiy' one face coloured out?

TF O () S8 70 § &0 ore i aman @ i aw @ W w%m%ﬁiuﬁ FEH R FTITE R
M

s T as ai') & (S v T & O |
4T 24 (B) 26 v
(C) 20 (D) X2
(E) Q\mgnﬂt attempted / a-‘lil.ﬂﬁ?l‘ o e
36  The branch oFStience which is related to the i improvement of human race n.n{qﬁ\ based on Mendel's Law &
(A) ‘hi:t:lbhﬂﬂg} (B) Genetics W
©) Mu’"ﬁl"’g‘ (D) Eugenics """

(E) Questgmnot attemped

ﬁﬂﬁﬁ“mrﬂmaﬁ‘a%w&m&mt I o & fami umﬁ'ﬂ-
(A) Eﬂaﬁ*‘ 4

ABY TR/ IR ®
- mﬂﬂww © Whw 2=
313 8 [ RTO
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41

42

hen Il gum-mlin“ s crossed with any one parent, then it i called:.
W hel :

(\) Reviprocal crom . (B)  Dihybrid cross
() [osl CTONN i (D) Back Cross i
(1) Question not UL'f"mwd ] . &)
qa 11 e fad (b ST A AT AT ST B At 2 e b g
() e S A TaHE doy —
() S AT (D) el T O
RS = 1 LY K (M)
ll"] Jﬂﬁ“lﬂ l“"l H
Choose the word silpi_l‘w in meaning to the underlined word:
It is exasperating todJaten to the suggestions of my neighbour about international afg{
uulhill}'.. tg W
(A) boring —1 (B) frustrating O
() l'"‘“l"]“"““"bm (D) amusing o
1) Question not httpmpted (")
t b ™
Choose the word similar in meaning to- TENACIOUS
(A) resolute oul ' (B) malign »
(C) timid (&) (D) modest N
() Question nut@umptcd o
O
— | r
Which of the followIhg is NOT an input device of computer? o
(A) Joystick ™M (B) Monitor 2
(C) Trackball (D) Image scanner
(E)  Question not attempted
Freafefiera 3 & W WHAE F O e R e !
(A) s O (B) fifes 3
\O ) S T D
(C) TaeiTe O P O
—i
(E) 3afa w4 ro-l —
) . : 7] tence: M
Choose the most appeqpriate word to complete the 5:::: :5“ —
The City Centre Mall was crowded 0 1;.rith
_(B7 from = E @ of o
(C) by P, o)
(E) Question not wmpttd tg
W . te the given sentence:
Choose the most appIgp! 1€ “_"’“"d to comple ——— ;
A teetotaller is one Who abstains _ o o
(A) from Ej (I'J) with H
Ao"in

(E)  Question not attempted

Q13|2=

rs of which he knows

[ PT.O.
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45

47

Select the reptilian member found in Rajasthan -
(A) Wild boar (B) Buzzard
(C) Indian Porcupine (D) Indian Chameleons
(E)  Question not attempted
TS S gg 9% IS §099 8959 5 995 23
(A) I 3 (FEE ) (B) w2
(C) wrE=R &S (T Tz) ol ' :
3 WiHE iz iz 35fea
(E) 3IgaRasw ,LD,/ ) h
Which of the following will undergo faster bio-degradation?
l;: Mango pulp (B) Mango wood
( Mango seed (D)  Mango peel
(E) Question not attempted
TGS E N 55 SUE Fmﬂ’?-mm%anm%ﬂ
(A) a-."::‘?-?ﬁa (B) IWmF =T
(C) === NP
BT ImFfo=s

(E) d-:g‘:i;m L1
The scientist who classified the blood into different blood groups is-
(A) Kar Landsteiner (B) Edmund King
(C) Richard Lower (D) Jean-Baptiste
(E) Question not artempted
ST E e = =1 fa= SRR ST 5 a9t feaT T, 92 &

-::aa‘%za:ﬁ (B) Usm=f&r
(C) F=Es== (D) SiH-sfe=
(E) FERaw=
T -1 FEET -1 9 gaioa Siie -

T -1 (FHE U T -11 (@)

a SIEY L qcdy

b. ﬁrm . &=

c. AT Il ﬂEﬁ%

~ 4. ggEm IV. ¥qdvE
AT 20 U faaei T § watfgs I
(A) a-ILb-qn o
P I*b c-IV, d.| ,eBT a-IV,b-1lLc-1,d-1
0=V, c-1II,d. g a-MLb-Le-1L,d-1V
(E) Iqafawx
‘FRT 712 T waqy 2
(A) H
AC) T 0 =*

(E) Siafaux s

RI13] ? 10

1 pT.O
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3
i caqn T EI'JT'EIEITE‘L{ 3752 -7 87
‘ s (D)
(C) el o & \O
oy opaRa I 0
(E) . 'S 1
- i
hadow of the pole becomes; 80 m longer when the altitude of the sun ch f =
49 Thes f the pnlc iS: - g rﬂmﬁ to 30°. Then the
o hc]ght - . o o
STl (TR1EdS) 45° | 30° TaeiaT & a9 Y &Y o 80 ¥ftet e ardt &Y el 2w oy s 2
4n(ﬁ+l)m(’ﬂ) - B)  80(V3+1)m )
- : i
(C} ( ) m (41, 0 ji%) 30(J5+|)m () o)
E) Qucstmn not ﬂttﬂmptedmi?ﬂﬂﬂﬁ 9T O
( Ve O
g Asum of money is to be dlstnl:‘iuted among P, Q, R, S in the ratio of 6:2:5:3. IfR getsg{]{}ﬂ more than S,
then what is Q’s share?
& T P, Q, R, Sﬂ?‘m{qﬁ :3 %aﬁmﬁfaﬁfta?ﬁaﬁﬁ%wﬁﬁﬁsﬁnﬂnﬂ aaﬁﬁﬁa%r%‘?ﬁgaﬂ
fern ferrtT 22
(A) X 2,500 (B) 3,000
(C) 1,000 =1 (D) 2,000 -
(E) Question not attempted:r‘ﬁﬂ?rﬂ?r BE | Eg
O
51 Kamal had 200 toffees. He ghVt 5% toffees to Ram, 15% toffees to Aman and +::um5':-ﬁ:‘:hg'7 of the toffees to
Gopal. How many toffees are‘l'é'ft with Kamal after the distribution? 'S
FC & 91 200 ST < mts%zltﬁ’rtmﬂ 15% 2Tt 378 sl 3R el bl T _mmrhmaa;‘rﬁml 3=
e & 91E HhSl & YT feraHt 2T s=ft?
(A) 120 (B) 130
(C) 100 B 110 d/?,’/
(E)  Question not anempteg‘hﬂﬁﬁﬁ B _ 1 o
o | - \O 3o
52 What will come in place of thexquestion mark (?) in the following series? :% )197
ﬁqmﬁ&vﬁﬁnwﬁwv)%mmww ¢ - 32/05/3;“/
16,33, 98, 197, 590, __? ("-?T: \ Y 6
A5 1181 i WY (B) 1251 r J%
oatX= .y () 108 9 &
(E)  Question not attempted / a;lflaﬁﬁ?l' qAq s\ — ol |  §
L. iod from 4™ feb. 2090 18" April 2009.
3 Find the simple interest on ?Ebﬁﬁ at 6:4- o per annl:r;l)fﬂl';h;opggﬂ e O e
(A)  T50.00 e o o o L
(C) T37.50 :3 ®) ' S “’féT
(E) Question not auemptﬂ £ l
00 9T 6— ‘;lﬁlﬂﬁ CAR g mﬁﬁm;
4 %l 2009 9 18 aﬁazﬂoﬂﬂ*ﬁﬂaﬁ‘*m"g e, B "“"[ﬁ["s'
(A)%50.00 (D) T 75.50
(C) 237.50
E) 3gai@ |
Q13 ](% - i oy [ P.T.O.
2
31, &I

0 v
e T = v
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54  Ina certain code language, ‘lifc is good’ is coded as ‘tj ve su’, ‘enjoy life’ is coded as *fs ti’ “character shqy,
be good’ is coded as ‘nx, nu, bs su’. What is the code for ‘is’ in the given code language?

ﬁa‘FﬁHﬁEﬂTﬂTﬁ ‘life is good”® &y ve su’ ‘enjoy life’ W ‘fs ti* ‘character should be good’ G| ‘nx, nu, b?pg

\

1S forar strar 21 36t € g I W st % oo e & [ 12 j‘.rjr_g_d-:/_'l,,vf-
(A) su (B) nu st LU= FS’:Q

' et 1 ecd ~ HRNNA
(C) ADP]  ve Chql‘q*lu Jh’"‘“ Lt&___ pe

(E)  Question not attempted / 3IaRE wx

S5 P,Q.R,S.T.K and M are sitting in a straight line all facing north direction, but not necessarily in the sam;
order. There is only one person sitting between K and R. T sits between P and S. There are only two person
between T and M. K sits on the immediate left of P and P sits in the middle of the row. Which of the following

pairs of persons are sitting at the extreme ends?

P,Q.R.S, T, K 3R M 8t 3T fewm ot 3 s e wfieft ot i 33 & vy sty 7 2 o =t et sp 4 20
ﬁK@R%mmwmﬁﬁhﬁlpqﬁs%mﬁﬁm%Taﬂtmaﬁﬁaﬂ%ﬁaaaﬁséﬁw%m
ﬁaﬁraﬁtﬁéa%aﬁtpﬂm%ﬁaﬁaaﬁlﬁw%ﬁmﬁﬁaﬂqﬁawﬁsﬁﬁmﬁmﬁw%%?

(A) K. M ~ (B) T,M

{;ef R, Q (D) S, T

(E)  Question not attempted / 3TTAi ¥

36  Which of'the following projects has brought a revolutionary change in the tribal dominated areas of Rajasthan?
Choose the most appropriate option from below: ,

(A) “Veer Sagar Dam Project (B)  Mahi Bajaj Sagar Dam Project |

(C) Bhakra Nangal Dam Project (D) Jawahar Sagar Dam Project

(E) Question not attempted

(A) SR T 9fEgsEy By HIEl SIS AR sy 9@ sET
(C)  ¥TEeT AT 9y qiegrery (D) ' SETER 9T iy 9T
(E) #aftauy

57  Which of the following is the first Super Thermal Power Plant of Rajasthan?
Choose the most appropriate option from below:

(A)  Chhabra Thermal Power Plant (B) Mahi Bajaj Sagar Hydro Power Plant
(C)  Suratgarh Thermal Power Station (D)

(E) Question g, attempted

PO 5 S 1T 1 g e s e

Jawahar Sagar Hydroelectric Power Station

fore & & A 3 e o,
(A) mﬁwﬂfe (R T e ——
XC{“ TR | (D)  SETet arR yafasiet gt 2

.Ql31? o S 12 [ P.T.O:
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58

59

60

61

. medium, (he equivalent weight of KMnO ais
q|kalin€ ; )
[n al mﬁmﬁ‘ KMnO, Fl F\[FU'F"ﬁT Y&

) M (26.33) (B) M (158.00)
({

©) M (52.66) ABT -?—{31.60)

] 3

(F) Question not attempted / 3TTART WA

‘maﬁﬁmmmmm%rmwﬁma
Ry GREE B) ®

) WA (D) 3=

(F) A A

Erferfiga § oA foRaT e ST I T /2

PrVIERER IO (B) 3w RR geema &

€) e R (D) FEEIE

(E) H@Hﬁﬁﬂﬂ

The value of [log;go (Slog;o 100)]° is:

[log00 (3l0g)0 l[h‘J)]3 &1 HH 8-
l 1

A T6 ®B) T
1
(C) E ‘ ,,(D}‘ 1
(E) Question not attempted / 3T T
62 Ifsin 23° = -'; then sec 23° - sin 67° is equal to:
Wﬁ?3°=%ﬁﬁsec23“-sin6‘?“m%= :
a
; ' 1)y e
(A) g -y b\b*-a
bNb* —a 2
(C = . I‘{B‘) bz +ﬂ2
) @2
(E) Question not attempted / 34':’1?1'&’(‘[ o4
. d height are equal to each other is to be melted and 162 identical
| e rﬂdll{S ﬂfld etal, so formed. What is the ratio of the radius of a ball to the
solid balls are to be recasted from the liquid metal,
radius of cylinder? uﬁmﬁzﬁﬁmtaﬁﬁﬂmeﬁWﬂ@ﬁlﬁiwmﬁﬁ
T S utfeaes S, e 7 A
. . " ‘aﬂ'
e v g o v feree R e ST I
(A) 1:6 o 1:5
(C)  1:4
w [
(E) Question not attempted / ﬂﬂ“ﬂ“ & . o
- Q13
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64 ‘fauy v w7 gy - fa=sg ©- »
(A) q A fa+mm ,S

(C) aq (D) fa+um lf

(E) A ool

65 Afia-aufia wez g w1 AT 3 A A | 2- o
(A) TNE - =TT (B) Emﬁm 7]
e)  tus - Wi (D) - §TR i

-(E) Iqaf@wx

66  Which Qf the following is the state flower of Rajasthan and is also a timber yiclding tree?

(A) Rohida (B) Shisham o)
(C)  Khejr (D) Sunhemp \D
\

(E)  Quéstion not attempted
Wﬁ&ﬁmmmmwém@mmgﬁmw,ﬁp

A0 (B) e
cE . Jedld

67  In humans receptors for opioids are present in

(A) Respiratory tract —
(B)  Bath CNS (Central Nervous System) and Gastro intestinal tract 8}
’ ’ i\g

(C) QNS (Central Nervous System) |

(D) @Gastro intestinal tract i _ (o)

(E) Question not attempted 4

nHa 7 SRfeized e 4 1 fafte Hifteiise iftml (fiew) ¥9asm &

(A) G (B) ¥=y dfier 43 U9 St 99 31
Lor g dtmran (D) S&UT 9 r

(E) igaitaw=

68  Choose the most appropriate Hindi word for the given word: REGULATIOI‘}L{

(A) B) &5
Lo (D) S¥EIRA \O
(E)  Question not attempted O
69  Completethe sentence given by choosing the most appropriate word: =
A persug*hn admires/loves himself/herself too much is a- -~
(A) ovice (B) Numismatist ™
(& Narcissist (D) Narcisus "
(E) Question not attempted
70 Choose the word opposite in meaning to-
SUSCEPTIBLE =
(A) pr.llc.lanc ABYT unpredictable %
(©) tqgcd_lble (D) immune o
(E) Question not altempted e
71 Ch“““% Most appropriate options to fill in the blanks: -
=1 E{hfnends nn:.busy tonight. of them are writing an exam the next day, b
“M were still ready to party and so far of them have confirmed.

(A) none, most, all, nope All, most, some. none
L] L ] L ]

(C) Sume'! SUII‘IE, Sﬂm'ﬂ', ﬂ"
(E) Question not attemped (D) most, none, all, some

Q131 14 [ P.T.O
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16

appropriate option to complete the sentence:

- st
['hm'*:-c the mo

q circular 18t

I'he languaLe ol

: = (B)  round about

. aguc -

: :Qucstinn 1ot attempted .
{I:
prass 15 40 alloy of ((D‘}‘

) T ad

o zm n":'l ':;iil;inc ::;)) Iron and Nickel

: opper ¢ sl l
:E: Question NO! attempted nd Tin
dftadt T fufera a1q 5.
o ﬁj ﬁa.;?é;ﬁﬁ ’ ) Eilm 3ﬁ1' ﬁ%ﬁ h
(C) G ARLN -

(E) Haﬂﬁag’ﬁ

Which technique is suitable for the disposal of biomedical waste?

(A) Landfill (B) Recycling
(C) Disposal in water (D) Incineration
(E) Question not attempted

ﬂa‘.ﬁi’%ﬂ" Qe fAgem &6 'Jq—ﬂﬂ; deheih %;-

(A) e (B) AT

) Ut H e AP ST ST

(E) {aia WA

According to census 2011 which of the following districts of Rajasthan has the highest literacy rate?
(A) Churu (B) Jaipur

(C) Bikaner (D) Kota

(E) Question not attempted

znllﬁw%mmﬁﬁmﬁ%mﬁﬁﬁwﬂmm@
(B) <AL
(C) Tt D e

(E) Igala WA

Given below are two statements about Laterite soil: ‘ ' )
Statement I: Laterite soil 18 found in Dungarpur, central and southern part of Udaipur and in Rajsamand

regions. |
Statement 11: It looks red due to presence of iron. | -
In light of the above statements,choose the most approprate an

1 t
(A) Statement I is true but Statement 11 18 false. (B) ;t:;n;tﬂ;emem T
(C) Both Statement I and Statement II are true- (D)

(E)  Question not attempted

from the options given below.

I is false but Statement II 1s true.
are false.

SUq-11: Fﬁ%(mﬁaqﬁ:ﬂﬁ : G—a{-ﬁﬁqaqgﬁmﬁﬁ :
mmﬁ%mﬁﬁﬁ%?ﬂﬁﬁ;ﬁﬁ (B) mlm%,ﬁﬁgwnwﬁ
(A) mmﬁﬁtx% a?ﬁﬁq:rﬂ; HHe (D) @A 1 3T I AT 376 €
) A 11
(E)  sgakerss 5 [ P.T.O.
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Read the passage and answer the questions that follow by choosing the correct option, (Q. 77 to 81)
Experts in climatology and other scientists are becoming extremely concerned about the changes to Gm‘dimatt

which are taking place. Admittedly, climate changes have occurred on our planct before. For example, there hay,

79

been several ice ages or glacial periods.

These climatig changes, however, were different from the modern ones in that they occurred gradually and, a4 fa

as we kl’lﬂ\\"%t“m]h" The changes currently being monitored are said to be the rcsilj_llt not of natural causes, by, o

human acti\ﬂ?;_ Furthermore, the rate of ch.nn_gr: is becoming alarmingly rapid. o)

The major problem is that the planet appears to be warming up. According to somékperts, this warming Procesy.

known as gﬁﬁal warming, is occurring at a rate unpréccdcm;:d in the last lﬂ,ﬂﬂﬂ‘ﬁarﬁ. The implications for g,

planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high 8

increase in the incidence of flooding and of droughts. These in turn could have a hafrhful effect on agriculture.

It is thought rt_r_!l.at this unusual warming of the Earth has been caused by so-called gl‘tégnhﬂliﬁﬂ gases, such as carboy

dioxide, beif@emitted into the atmosphere by car engines and modern industrial processes, for example. Such gases

not only ads@ the pollution of the atmosphere, but also create a greenhouse effectg:.?f which the heat of the sun i

trapped. Thisdeads to the warming up of the planet. 0o

Politicians dre’also concerned about climate change and there are now regular summits on the subject, attended by
M : i . 1 . :

representatiyes from around 180 of the world’s industrialized countries. Of these symmits, the most important one

took place in Kyoto in Japan in 1997. There it was agreed that the most industrializédcountries would try to reduce "~

the volume of greenhouse gas emissions and were given targets for this reduction of emissions. i

It was alsuﬂggﬂsted that more forests should be planted to create so-called sinks to absorb greenhouse gases. At

least part ofghe problem of rapid climate change has been caused by too drastic deforestation.

Sadly, the ﬁets are not being met. Even more sadly, global warming about climaté changes are often still being

; , O

regarded asscaremongering. W
M | L

77  Idenufy the correct statemen ‘-

The ice ages or glacial periods are examples of climate change§ih the modern times.

In the past, climate changes occurred gradually and naturally.
Rising global témpratures can cause more ﬂuudiné and droughts.

Oedle »

Greenhouse gases are given out by 5lants. 4
- The climate changes today are dissimilar to those of the past. O
Chm:r&)the most appropriate answer from the options given below: g
(A) (b aanddonly. (B) c¢,dand e only. i '
(C) "B cande only. (D) a,band c only. o~
(E) Question not attempted 2
78 The %Ef"h””“ effect is caused when
(A) 3‘1‘* gases like carbon-djoxide trap the heat of the sun in the air
(B) “¥he green coloyred glass or mesh is used to cover the plants -
(C) ! € green trees form g canopy in the forest %
€ roof is :
) ¢th LIS covered with green plants (o keep the building cool \O
| (E) uestion not attempted I v |
- .T.0-
Q13] ? o ™) g
™
>
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ollowing We™ ;
which of the rind strialized countri€s would reduce emissjons.
iy & jore forests should be cut to create the so called sinks.
b. 5 Jutomobile industry should roll out electric vehjcles.
B Targets Wer¢ set tO rffduflﬂ the volume of greenhouse gas emissions.
d. - ate of . dustrialization should be contained. @~ =
g : ool
e.the m;g: appropriate answet from the options given below: U:
Choose T exonly. (B) b,candeonly.'(
A} C, d an =,
(C) a. band € only. 9) b, c and d only. '~Li
O & iyttt -
(7} Lo
- mplicatidﬂd of an unprecedented rate of are very séi-inus.
80 &) Ecol ogical disaster (B) Kyoto summit * "
C) Flo nding“fi draughts (D) Global warming
" (F) Questiomyot attempted .
_ '. ' )
e \L) - g
ch List-I with List-II te
B - ol d List-II (Meaning)
| List-1 (Words) :ch absorbs carbon-dioxide
a.  Unprecedented 1. Forests larfd, wh:_g} absoros
(") 4 fromtheair .
vn [T IE II.  That which has pever happened be r.jre
b. IS:Tthcatmns [[I. The deliberate spr:eading of frightening rumours
" i A IV. Something that is suggested
d. Scﬂre mongering _ ¢ s
Choose the mE_g; appropriate answer from the options given be IS’WI; - cf' -”51!1 -
(A) a-NILb2IV,c-1,d-1 o e V. cAMd- I
; (C) a-1I biil.c-1II,d-1V (D) . O
; (E) Questidf'!{ ',%mt attempted f: | A
cry _ (M
82  Natural rubber i§ a polymer 6 (B) Isoprene v
(A) Neoprene (D) caprolactam
(C) Buna-N |
(E) Questian-hot attempted EF:

T e FrEafafad # 5T e e
A s

) - Py FRET
©) EEI‘-’({-TTE?una-N) —_
(& AR o o o

) ¢ ::1 s has the Indian Constitution borrowed the Directive Principles of

83 From which of the foll =4

(B) US Constitution

owing Constitution

State Policy? ; »
(A) Irish Constitution (D) Canadian Constitution
(C) British Cdnstitution :j

®) Questiihot S0 5 et o ) g e,

Freferfiaa o & B & L0
/@f( mmgitﬁmgﬁm (D) mmqﬁw‘(*{
© ﬁﬁ“ﬁ;ﬂ ' &
R i 17 # [ P.T.O.

v

Q3| F
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84 Who was the first woman chairperson of Rajasthan Human Rights Commission?

(A) Pratibha Patil (B) Shanta Kumari
(C) Kamla Beniwal (D) Kanta Bhatnagar

(E)  Question not attempted
TSI AEaTuER SranT €1 9wl qfear sro w1 ol

(A) winmofes (B) witan FwThl
(C) et Dy~ T AT
(E) Sgafauxw
85  Which of the following is an important ‘ISABGOL" producing area of Rajasthan?
(A) Jaipur (B) Kota
(C) Bammer (D) Jodhpur

(E)  Question not attempted

Fefafadd cemm s am B U e QU ‘$aamier” m@ﬁ%‘?

(A) FTR (B)
(C) == . ‘ﬂ’f‘Tﬂ'(
(E) Sgaiaws | M

86  Which City of Rajasthan is known as “City of Garments"?
(A) Jaipur (B) Kota
(C) Bhilwara - (D) Bikaner

(E)  Question not attempted
TS F1 FH |1 9T 9Rart & et (Rt 397 mrifes) 3 = & sy e 29

/rr'\"' ERkE (B) ®Ir
(C) wieaTen (D) AT
(E) SHaiaws
87  What is the minimum number of meetings of Gram Sabha to be held in Rajasthan in a year under the
Panchayati Raj System?

Choose the most appropriate option from below:

ﬁnnummﬁmyl

—K) 2 wi(B) 1
(C) 4 (D) 3
(E) Question not attempted / ﬂaﬂflﬁﬂ’ﬁ

m & - : #
88 Inthe]2 .ch Year Plan of Rajasthan which sector has been given maximum allocation?
(A) Agnculture and Rural Development (B) Social and Community Service

(C) Industries =
(E) Question not ﬂ“‘?mplcd ) Power
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91

92

93

i
& p

anrigte 0
N 1|1H‘I|“'
. ﬂ'.u h'
1 m A

Jlled *Maru® then *Maruvara® and gy .
ption from below:

LS

;Ii;“"‘q"‘ [ | (B) Dhulpur ¢~
tﬂ l]l‘l-‘-h-;lli"flll'.l (D) J“dhpur =

T I
me to be called ‘Marwar’.
VLY

(F) Qm:i“l‘;~ qﬂﬁmmmmfﬁﬂqﬁaltlaﬂtmﬁmwéﬁm:_

(B) w&q .
}D}'W Ty

1 o
L)

(B)

{E) l: i .
!':t
F E ﬁrgq.w :I el iﬁt FIE‘-:
( } i"‘: ) f.J".‘

| I-

- ¢ person 1o usc word ‘Rajasthani’ for the language of Rajasthan?
George Franklin
(D) George LincEQ:Garrysun

§1 Thilsi Gowda
:ma Devi Barman - (B)- v Al ()
(A) Pumimale ~(D) " Alice Garg "’
(C) Amnla D?Vi d —
ti ot attempte _
gl_l Quesgiil;q sl n[mwzozgw i
;:“{E(Iﬂ 3 =
(a)  qfefen ey @) Y 3
i g
(€) mﬁj 4ide simultaneous elections in India?
(E) b ] ine the 1ssu€ of hol II;IE S _
—t f the committee set up 10 iiExam(IB) Shree mm{kant Bajpai
Who is the chaim Nishad D) Shree Vijaypal, Singh Tomar
(A) Shree Baburam NI>¥ ; (D) &
b K oVvIn« N
(C) Shree Raninath Y,
ted o TAH
) Questioh ot atlemPIer, o oo ere e ﬁrﬁ' oft creefieia A
I | U 91 g1 D) %ﬁﬁmﬁﬁt?ﬁ'ﬂ'{
(A) o =g TS

!l-{l

1 S
ﬂjast_hﬂn, 1S as

ociated with '}-"-'T]ich one of the following?

Lﬂ e Divyﬂknﬁ Sil‘lgh ﬂfR (B) Equt‘.‘ﬂtﬁﬂn SEU}H jumpi“g
: - i
= a“fﬂ;ﬁhuntgr trails (D) Equestrian c:ﬂ?ﬁ country
(A) Equestna .
c ¥
) E ucslrim dressag R .
(C) Eq tiﬂiﬂnt Jttempted uilie ﬁﬂq;ﬁ[ﬁi'ﬁ = wﬁﬁﬂﬁ‘rﬂi
(E) Question' 023 1 ; s
s (D) goEard F

?T;-'T‘T
(A) gsqaﬁiﬁ-’(
(©) Wﬂ?{“ﬂ 19
(E) aﬁﬁﬂﬂw

Q13) 4

| P.T.O.
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94  Match List-I with List-1I

SRS IR I R GRS

I ————— W TS S

List-I (Decimal value) List-II (Binary value)
Tt -1 (@I ) Tt -1 (e e
a. 4 L. 1000
b. 5 11. 1001
C. 9 III. 0101
d. S V. 0100
Choose the comrect answer from the options given below:
9 R fawegt ¥ g@t s RGELE
A a-lLb-IV,c-1,d-1 (B) a-I,b-Ic-IV,d-1I
(€©) a-IV,b-Il,c-1,d-1 (D) a-IV,b-IIl,c-II,d-1

(E)  Question not attempted / (o wx

95  “USB"standsfor 2
(A) Universal Sequential Bus | (B) Uniform Series Bus
(C) Universal Serial Bus (D " -sal Series Bus
(E) Question not attempted
quEdrapiw 2 |
(A) FhHada HiRina 9 (B) JFwnd s =g

ey ghada difga sy (D) IFeda e g
(E) Saia X
96  Who is the I¥ Indian Woman Athlete to win three Paralympic medals?
(A) Sheetal Devi (B) Kanchan Lakhani
(C) Mona Agrawal (D) Avani Lekhara

(E) Question not attempted

a1 Yeiies gaw Sfiaw arelt gael wiRdte afder wueiz S 2

(A) Yiaer (B) FET TG

(C) WHT aTe By af dau

(E) igafa s

97  Porpanaikottai, Sangam age site, is located in which state?

(A) Arunachal Pradesh (B) Tamil Nadu

(C) Kamataka (D) Kerala |

(E) Question not attempted ]

WAFIEE, T g e, e oe 3 R &

(A) TS W ; ?
(B) dfrerTy "

) T ' _ |

y
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s OF < ame?
hois! _:
o \1} Le der Paisri ?;)) Mﬂhesh Bhupati
(¢, 1 pham Rok
(€ Yeb : on not attempted an Bopanna
Ques _.
E) «— 317 $H oh [T ATHifhd B
) W ‘,(-B'T ‘Eﬁ
A) ﬂ TRy
l.C y 3 (D) & drg=y
(

celect the most incorrect statement about Ganeshwar excavations.
ec

(A) [n Ganeshwar excavations undertaken by the Department of Archaeology and Museums, Rajasthan,
| brought to light about a 5000 (approx.) year old culture.

B) Here copper was received from Harappans.

(C)

D)
(E) Question not attempted "
3 ¥ gt o gad e HYUA HT I | |
?mwﬂtﬁﬁ@mﬁwmﬁﬂ?qﬂiﬁm snﬂoaﬁwn@ﬁrmﬁw@:

@y TEi T & e ST {SHAT ST
(C) oY i Y TR T U FE T $e o

Ganeshwar is an important site of copper culture.
It was discovered at the source of river Kantali at Neem Ka Thana.

D) TorET, f rrT 3 st At 36 e o Ee e
(E) ARG 9
: ?
M Kalibangan is located in which place O RaJ2SWIE. ooy
(C) Jaipur
: d
(E) Question not attempte |
mmﬁ%ﬁﬂﬂﬁ“iﬁ“%’ () AR
p) ¥
A TG (D)
©) R
(E) :ﬂﬁﬁﬂ'ﬂﬂ gamal is 34th from the left end while Ravi is 20" from the
o S ueue facing North Kamal stands second to the left of eshaan, then find out the
lnl Some bﬂys arc Stﬂndlng na q ght nf E hﬂﬂﬂ. If a
TlghtendandRawle?mmmﬂn m@tﬁmémﬁaﬁtﬁaﬁﬁﬁﬁmﬁwaﬁt
in the O guos e A1 Y dfen & crgent o T
total number of boys 1P ﬁﬁ,{-@gm e, G @ {ﬁﬁgﬁzﬁ(n{mmtﬂy
%5 wre% T 1P *wgslﬂuwm AR
A S G @) 66
-~
AT T _ (D) 62
&) 64 -
PT.
(C) 60 mpwdxaﬁ,‘"ﬁ“ 21 i) ay [ P.T.O.
(E) Question 2% i "
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102 There is certain relationship between the pair on the left side of Sct up the same I"’:l‘“i'f‘-‘"."al'.lil;g on

side of :: then find out which uptimr{muhl replace the *7°
£
LANGUAGE : PCRIYCKG :: (‘()Mjl‘l ITER : ?

; B

oo 1
L7
O

::%mmﬁgrm#mﬂmmrhﬁﬁ : ﬁ;mﬁﬁmmﬂﬁ”m"ﬂmﬁmﬁmm'mw&ﬁ
L

TN |1 ey o mwar r{

i'_':'l

LANGUAGE : PCRIYCKG :: COMPUTER : ?

AT GQQRYVIT - (B) GQOQRYSIT
(€©)  GQMNYVIT (D) GQRRYVIT
(E)  Question not attempted / A wy
103 F =
3 Find the numbers of tnangles in th€'given figure:
A= & angfa & et 0 e hﬂm
pos
(-
(v)
v
(A) 31 (B) 17
‘1481' 27 (D) 29
(E)  Question not attempted / ﬂiﬂ—%iﬁ e
O
. )
104 The area of the triangle formed by:},c lines 2x + y =4, x - y + 1 = 0 and x-axis is :
(A) 4 squnits Ca (B) 5 squnits
(C) 2 squnits (") (D) 3 squnits

(E) Question not attempted

-T{Eﬁlr+_1'=4,x-y+ I =0Qﬁx-ﬂﬂﬁﬁﬁﬂﬁﬂaﬁmﬁ:

(A) 4w g o (B)  5ar g
(C) 2Tigwr O (D) 3 a7 gerd
(E) 3s/Huftauy :g

r..{

4
3
ey

vt
h
o
D
r=i
-

()

1
@)
Lo
W

105 1 '
n the figure below, PQ s parallekto RS, 2PQM = 80° and £SMO = 25°, What is th u}u; f 20SM!
; s the value o b

413 & ¢ smEfa d po, RS ¥ wxi POM ='80°
: : mm;34 QM ='80° 3T £SMO = 250 & ZOSM T 917 F47T &2

0 vt
Q m g
\0
X9
S 1
° -
(A (") "
(C) 50° r4 (B) 65°
(E) Question not ““‘mplfdfﬂﬂ'rrﬂ?lgq (D) 60°
Q131 % "

e

h
O
0D

Y

™
v

i I'.T*O'
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o givel tﬂ{l then decide which of the given ¢ onclusiope lana“% from commonly known facts. Read the
f L.;nﬂ”ﬁmns No singer 1 director Ogically follows from the given statements

5tatfmf gome directors are teachers

gome teachers are students

. 4 (1) Some singers are students

conclusi® (IT) Some directors are students
(A) Neither cﬂnc}-u Siﬂnfl ]I:m i (B)  Both conclusions I and II follows
0 Only conclusion I follows 5 b e

(A) q?hfjﬁaﬁlmnaﬁr% (B) a’!ﬁﬁ;f@%?%
" (C) e Foreep 1 GEY 2 /eBr'%rul?—r f I

() a9

' of Rajasthan?
IT Who among the following was the first Chief Secretary

(C) Shri V. Narayan

Ay oft 3, qraTEeT D) HIAEIH
(C) =it Y. AT
(E) 3raita wA lim League?

1 b;—ated by
g When was ‘Direct Action Day GRIE

(A) 16 August, 1947
(C) 15 August, 1943

ted manr?
{E) Questiun not attemp ﬁ{aﬂ' a;aﬂqTﬂT (B) 20 T, :zz
Eﬁﬁﬁtr'eﬁrrﬁm geaal | ,.ﬂl)"t,m AT,
(A) 16 3T, 1947
(C) 15 3nmEd, 194°° 23
(E) sqaid )

Ql}l?

; : Raiesh Bhushan
‘ (B) Shri Rajes
(A) Shn K. Radhakrishnan ©) Shri Apurva Chandra

[ P.T.O.
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BV 1 WIHCH CHOICKULY Wy p peemeessmss mommmesses oe = =r

Rajosthan? '
ajosthan? I P ”
(A) Tarun (O (B) Vyuw N
(C) Kishore ‘¢ (D) Shishu :g
(E) Oucuiim{::;ﬂ attempted | el
Wmﬁgmma;fmﬂvudmza-zd i Trarears # wraftfi fara Aoft & @ 20
(")
(A) w7 & _ny” =en >
(€) faw (D) fam
(E) :ﬁgﬁftuﬁ »
- o
110 12ZB (thtnhyt&s cqual to: :g
| ZB (Zettaby! L !
(A) 1024 KBy i AP ~M) 1024 GB ::2
(C) 1024 EB (D) 1024 ZB -
(E) Qucsliuﬂﬂt attempted / Hﬂﬁ‘ﬂ'd' o
(o) *'
e

111 Which of the l@uwing shortcut kéy of PowerPoint that helps to prcscni the slides from the beginning?
ﬁnﬁﬁaﬁﬁ,ﬁ:qﬁmﬂﬁﬁmﬁ(k:y)tﬁmﬁmzﬂﬁzmﬁﬁ@m%?

(A) FS g-; (B) F4 4
©) Fl D) FT7 =
(E)  Question not attempted / 3TFafa 54 4

" H ‘

112 At what time btﬂgecn 7 and 8 O’clock will the hands of a clock be in the straigé.t‘linc but not together?
D 3 o
(A) 20 min past 7 (B) 7ﬁ' min past 7 tg

(C) Smin = “, : -

pagty (D) 377 min past 7 !
. X 1 )
(E)  Question'Tiot attem pted ‘ ()

ugi i 7 msaﬁ%mmﬁgﬁﬁmmmwﬁm}mﬁ@ﬁéﬁqwmﬁqﬁ@ﬁ?

A TR BT 73 e
C) 7 %—m} y {
(C) 789 5 -
(D) 739w 5=
(E) ey ' ”mﬁ%
o
113 IR TR HY frode b, :3
3 + e ©
' (B) 3I9+9rr
© T (D) 3= i
(E) S #A Kk |
313 4 ' [ P.T.0- |

ikl
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- ey

which Ot

with - _ : bl
» “hoose the most ?ﬂfﬂpnﬂtt option from below
i g (B) Marriages
(A) Tee) Lo |
' O (D) Holi
lL“'} Navratra N
{l} Q‘lifﬂtiﬂn I!%j?“f l'ﬁpttd
et g o o I Q wafua 82
B W IO T T
(A) (B) faare
) T v Dy~ grch
(E) Wﬁﬂ Tﬂa
115  The life histony t'fP‘the saints which is available in poetry form in Rajasth
™
. 9 |
(A) Vachnika (") (B) Dawavait
(C) Parchu ™ (D) Vaat

(E) Question not attempted |
e 1 S e e T ST e §9 8 I9ered ®, FEAT e _ -

13016681

2

am{language i

13016

(A) ST a (B) <Emad
ey w W (D) <

(E) Syaf@wys

N 2

™
116 Where do womenrwear jewellery named ‘Borla’?
(A) Hand K - (B) Head
(C) Ear - | (D) Nose
*(E} ' Quesii;pn @aﬂempted . . '
FREAT ATH SN[ AfeeATd Fel et 82\
(A) ®E v e a0 ~B) R
© & Clem . ©) T
(E) Agaid ¥4
117 World’s first cloned buffalo was born in which country?

(A) USA g (B) Russia
(C) India 0 (D) China
(E) Question n{t attempted
foe < qeedt 1 5= o 30 o gt am
(A) gy —BY
{0y . WG (D) ==
(E) Sqaiay=

Q13] ?’ 25

13016691 13016691

13016691
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118 When is the National Sports day celebrated in India?

29 August
23 August

29 AT
23 AT

Amit Shah
S. Jaishankar

(A) 25 August (B)
(C) 21 Augus! (D)
(E) Question not attempted
WA B Uity Qe Reaw e 711 STt g7
(A) 25314 _B)
(C) 21 3= (D)
(E) qaf@uw
119 Who among the following is the author of the book titled ‘Why Bharat Matters’?
(A)  Nirmala Sitharaman (B)
(C) Rajnath Singh (D)

(E)  Question not attempted

ﬁq%ﬁgaﬁﬁaﬁq*mmﬂzﬁ‘mgm%mé?

A& st e (B)
(C) =AY fiw (D)
(E) mﬂaﬁaw = i A

120 CH3;COOC,Hs +H,0 —> CH,COOH + C,H.OH

In the above reaction, which of the compound is the “auto

fa mre
T, SIg3ahT

catalyst”?

mﬁﬁwﬁmﬁmmﬁﬁm*ﬁm'ﬁﬁﬁrmm%?

(A) CH;COOH (B)
(C) CH;3;COOC,H; (D)
(E) Question not attempted / Gﬁ?lﬁ?l’ 94

121 Zn + CU504 —> Zn 504 + Cu
Which is being oxidised in the above reaction’

FULRT AT F T STt &Y @ 22
(A) Cu ~ (B)
(C) Zn - (D)

(E)  Question not attempted / 7T 94

122 Some metals sink in water, as:

(A) their surface area 1S less than water. (B)
(C)  their density is more than water. (D)
(E) Question not attempted
T UTQY IS | g STt €, i -
(A) ST YU Gchet Ste § @ Brar 2 (B)
(C) 37199 et @ atfires grar 2 (D)
(E) af@us

Q13 ] ? | 26

C,H;OH
H,O

CUSO4
ZnSO

their mass is more than water.

their density is less than water

3THT ZHTH ST W 31 gar @
ST U STt & 9 BT 2
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icle of Constitution of India, deals with the duties of g, Chief
AT e

iz Minister of Sae-
:j “'];“' j‘%ﬂiclﬂ 164 (B) Ani{:lc ]65 E?
A Article 62 (D) Articjeq 47
(€ :'QUESIEDH not attempted N
) (Do ot S 1 STTOE TS & @I 3 oy oy !q_é;
ﬂm_{,- 164 ) &?
T B) 3172165
. 2 -
0 g0 16 D) =371 67
F] ‘W ga {fl
ol v
. ind the incorrect statement about:- The recommendations of pe Ashok Mehta C
: Raj 3 Ommittee on pﬂnchaya"
o) (Reservation of seats for SCs and STs on the bag;« nfthei;gopul i
-Population.

B ‘Official participation of political parties at all levels of pht

19 i ﬂ'[;th : )
(C) hi_l'he three tier system of Panchayati \ ayati elections

Raj should be replac?d:by a two tier system.

) dfthe Panchayall Institutions are superseded, elections mi@t be heid wirh
(E) ‘h‘ut‘:stiun not altempted o eld within one year.

ey Tl et Ut o T R ety sy amn %
(D) aﬁwmwmmm%a}
! ) Ea’&%‘ﬂ?ﬂ
(E) :_} oSy po WW'&THTHTF@'Q
o O
' ™)
s Faraferfiea & s ot Rl v 2- ‘.4
o W (B) dfewm
= i g
(E) ‘e war o)
\0 . Ve
. ﬁ“ﬁﬁ‘m’aﬂﬁm%ﬁaﬁﬁaﬁmm@wqﬁ%? ﬂ
A) g (B) 3IeA,
€) ¥ fopor™)
) j{@:rr Ay al
(E) " siyafw v
2 fymw -3
T AT gy i fasieaT Sdrg S, 98 FHectd ™
(A) E%QT%!?NUT (B) Hﬁ?@ﬂ?ﬁﬁﬂﬂl
\D
ET" [t ” mﬁ
" E) W o g
et i <ar o)
i, q 37 Yegagh 3 - :'3
AT oy
©) fa=m
< i = [ P.T.O.
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129 fFrafafae # g adt g 7 2- y
a. afufa b. - et Q’ﬂngj 5(’
c. oM d. @ a
e. WH J‘F“( t:1""':2":"1'{4’.1
1 R e fasreat & @ watfues 3wy smgfiu o k,{,‘(::
(A) c.de (B) b.d,e -
(C) acd b, c, d
(E) gufaww ﬁ |
130 fF=fafead *Corrigendum’ & %QWWW%-
(A) =9 (B) ¥F
(C) Yfew - Dy uftaA
(E) 3afiauy |
131 F=fafgs § 959 ww a@ri 9T )
AT T (B) uwi=@wH
(C) WHuA (D) frEvr O
(E) qaita vy
132 3w | fAfea Swat 2-
(A) s
(C) « (D) 3«
(E) Iqaiauy
133 ‘THU F ITFN FH T AH I1T & Fofw uah 312 2- |
(A) Fard (B) wdt
S FaA (D) FHa¥
(E) Iqaiaux
134 T -1 51 it -11 | gafera Hifvg ;
gt -1 (qEEy) RSB E L))
a. WA - T Uh 3T —1.  wefs w5
b. TS aTHET . i qftery &
c. HH WG . IR T@EAT
d &I IV. 39N 99 d1d T
13 fg g et 3 & wafis soge swoapg !
(A) a-ILb-Ic-I,d-1V " (B) a-I,b-Lc-M,d-IV
(C) a-Lb-1V,c-ILd-1II - 8o 016 T 2T s
(E) qaf@ya y = e
135 ‘3319 T@AT YeTal 1 del 374 2.
(A) o at@ AT
3 (B) &TIT &
LCY I3 FETT T@AT (D) = frem
(E) 3 ufayy
Q31 28 [ P.T.O.
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e BCl the wy
W \'*";:“ 1|htﬁ~ weeks L mon(| es for their Work?
) a week ) lortnighy
. Uurutinﬂ not attempted
1) AR ARCR LR ITTVRIEY O u o ’?l:m -
RUL nﬁi‘“:*: — R Xy 7
N :nml o) T
T
, largest Solar Park of India whieh ie o
g Name the wrbﬂ ik ot ueh ig Situated iy Rajasthap,
Choase the most appropriate option frop, below:
la Solar Park
{.'\‘I' Hhﬂd
() Charanka Solar Park (:‘) Mands Ur Solar Park
() Question not attempted (D) Pavagagh Solar Park
m%m@mmmmm:ﬁﬁ;mﬁﬁ
e A W I Ry T ¥
R ESIRT SRy
€) e BYeR B)  siewt ey arge
) St (O) rams gher
¥ Rajasthan Small Industry
TSI &Y S %WQ?TPIWS Cﬂl‘p?;:nn o Wlished in the year:-
A% 1961
€) 1947 (B) 1967
(E) Question not altempted / IR Wy =
B Gandh; Sa
gar dam is byjy :
@A) s Htover which of the following riverg?
©  Narmad, (B) Manas
% HE.:;?:JH _— attempted (D) Sﬂbarmati
e ir%%qﬁqtmw%?
(C) Ttey (B) wmg
D
®) STyt P
40 The n
"I Onginating from the Amark flowing i irecti '
fol antak range, Owing in all directions, ;
(il)nwlng type of drainage patterns? o e of v i
Q D‘Eﬂd'rilic (B) Radial
®) Trellis (D) Centripetal
_ QUZ;t;nn not attempted
N M&ﬁmwwmwﬁmmmﬁfm -
FT v ®)
Q) r,n-eh.iq.r (D)— 3rfvraeh
®) 1w we
013
s 29

[ P.T.Q,
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141 Which of the following translators converts high level language into low level language at once?

(A)  Interpreter (B) Controler
(C) Assembler “’)} C“mpi]cr
(E)  Question not attempted -
mﬂﬁmmwmmmﬁwmwﬂvﬁﬁwmﬁﬂmﬁvﬁhﬁ?
(A) wROA 0 (B)  dAer : E
(C) ordaew 0 Dy g ol
(E) gafaws . o
s (")

142 HTTP stand for i -

[
-

Hyper Text Transfer Protocol

(A) Hyper Text Tmnsm.iss'iun Protocol (B)

(C)  Higher Text Transfer Protocol (D) Hyper Text Technical Protocol
(E)  Question not attempted :;:
wWAAdwpiwe D L
(A) FTREW IR Rl Werwre %EF‘ BTAYT 3 ZAH Tt

(€) TR TR Nerwier
(E) eRawsy ;:;

(P BT Tz 2T ST
o (")

| &
143 Where was Asia’s largest civil aviation event, *Wings India 2024° held?
(A) Mumbai - . (B) Hyderabad -
(C) Kochi T - (D) Lucknow -
(E) Question not attemﬁ?d £
L0 .
tzﬁmar;maﬁagrwmﬂml Frdsh, fama 3 2024° Fet s Rt mar g
(A) T S By e =
(C) e (v ' (D b,
. - (D) <T@EESH i
(E) Aqufawx
144 Choose the most apprnpri{i[ﬂé option to fill in ihe'b‘lﬁnk: g:
By tomorrow afternoon tli;plane carryi dici
» the, Irying medicines for war victj '
(A) will have taken 'O | (B)‘- t:iu.l-c:'.f'mnmS {é; i
(C) will take :.:: (D) ';L 5o
& - wi ]
(E) Question not attempfed | s f?')
| L g |
145  Choose the most appropriate passive form of thé given sentence:
People must not Jeave bicxcEin the hall. |
(A)  The bicycles are nof} ‘ | o
| € notio be left in the hall b th =)
(B) The hall must ig’; y Y the PEUPIE.
- not h& ‘C any bicycles “rpﬂnplc O
(C) Nobody should leave bicycles in the hall o
(D) B.lﬂ}’cftﬂ must not be-left in the hall, EJ-'
(E) Question not attemli.l_' (7}
v |
o131 F _ 30 ' (P.T.O:
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R

ption to fill in the blanks:

mnte 0

; "pprﬂl‘f'" ‘ :
" (he MO3 windy morning but they still hired boat and went for
§ W - P '
lﬂ' u “.:“; = _,.--r*""* - L‘ﬂﬂﬁll (ll) ] -_-\\ !&][
3 d,.-n*‘"""r . ﬂ; “‘:..lllc -
,'I,‘\H.‘L,_.-- " X, Ihc :
) the, X t | (D) the,a,x,a
' - a the
. i . & "
€ Quminn nol nllmuptu‘
() _ : .
e g from & distant object after refraction by eye-lens converges at a point in front of the retin, thix
. | : ; ;
v :-.‘pf Sfeye defect 18 called : .
[.U pn-sb}'l"l‘i“ (B) astigmatism
0 myopia O NCAT sightedness (D) hypermetropia or far sightedness
) Question not attempted —_
BT S T Wbt 3 o H srqada ¥ are afs e % am e fig o v e R a3
hauﬁmm% : ' |
) SR (B)  Afeigehar
) e an Fehe gfeaTd (D)  BrEwEfaT a1 gL gfea

18 Anobject is placed at 30cm in front of a concave mirror of radius of curvature 15cm. The image formed will

be -
(A) magnified, virtual and erect (B) ofsame size that of object, real and inverted.
(C) magnified, real and inverted | (D) diminished, real and inverted
(E) Question not attempted
ﬁa@aﬁlsﬁﬁmﬁmaﬁm %Hﬁsoﬁﬁaﬂmwm%ﬁmﬁmuﬁﬁ?m
(A) Nﬁﬁfﬁ(asnsmmﬁaﬂwﬁm (B) ] o SR, A IR

(D) O, T 3T e

() smafida (arg), At I
(E) rqafta ws |

destination of Sun-Earth L1 point on-

149 India's first solar ﬁbser\'t;tﬂl')’ has begun its journey to the
L&i] November 07 2023 (B) DECEmb'er 01, 2023
(C) January 25 2024 | (D) Sﬂptcmber 02, 2023
(E) Question not attem d
P - o &Y o7
et e Sy 3 g - et 6 e ST k-
: fereart 02, 2023
(C) wm=aty 25, 2024 A X
(E)  armica w ’
: ic . d to launch the Chandrayaan-3 mi:i;inn?
150 . : : unch vehicle of ISRO use ' y
Wh-qemmh one is the operation® h;,:;ya:%:; gadl (ISRO) T cigraresren telt feroe ety A @ &2
-3 fﬁmaﬁﬂﬁ(ﬂm (B) GSLV
(A) GSLV MK3 4oy aSLY MK2
(C) LVM3-M4 o
/ aqgﬂffﬂ b
(E) Question not attemptcd 31 [ P.T.O-
013 | ?
i
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